


1. Compounding: 20p

Suppose that you have opened a bank account at the beginning of first year and it reaches to 1635 at the end of second year with the following criteria;
· For the first year you begin to save with a Principle (PV) and reached to 1104,72 at year end with a rate of calculated monthly?
· For the second year you go on to keep your saving by adding A=100 at the end of each quarter with a yearly interest rate of calculated quarterly?
	First Year
	Second  Year

	PV=600
	
	FV=1104,51
	
	FV=1634,45

	
	A=35,15 monthly
	
	A=100 quarterly
	


Hint: FV= PV + I   &&&   FV= PV*(1+r/m)^m >>> PV + I = PV*(1+r/m)^m
a. What is the yearly nominal interest rate of the first year? (5p)
b. What is the yearly nominal interest rate of the second year? (5p)

c. What is the value of interest payment (I) that is earned for the first year? (5p)
d. What is the interest payment (I) that is earned for the second year? (5p)

2. A company plans to pay 2 ₺ dividend per share at the end of first year. The dividend at the end of the second year will be 4 ₺ per share, and it is expected that dividends will grow at 7% per year thereafter. If expected rate of return on the stock 14%,
	Dividend Discount 
	Constant Growth (g=5%)

	0
	Div 1
	Div 2
	Div 3
	....
	Div t

	 
	2,00 ₺
	4,00 ₺
	...
	...
	...

	P0= ?
	P1= ?
	P2= ?
	
	
	


a. What is the Current Price of the Stock (P0)?
b. What is the expected Price of the Stock for the first year (P1)?

c. What is the expected Price of the Stock for the second year (P2)?

d. What is the Dividend Yield & Capital Gain for a year (first year)?
Hint: Dividend Discount Model >> P0=Div1/(1+r) + Div2/(1+r)^2 +…+DivH+PH//(1+r)^H
        Constant Growth Model >>> r= Div1/ P0 + g
3.  Bond Pricing: A General Electric bond carries a coupon rate of 10%, has 10 years to maturity, and sells at a yield to maturity of 8%. 
Hint: Face value is $1000.

  Coupon Rate= Coupon Payment/Face Value


  Yield to Maturity “market rate” is the discount rate that makes equal PV of Future Cash Flows to                    Bond’s Price “P0=C1/(1+r) + C2/(1+r)^2 +…+Ct /1+r)^t ++FVt/ (1+r)^t”

  Current Yield= Coupon Payment/Bond’s Price
a. What coupon (interest) payments do bondholders receive each year?
b. At what price does the bond sell? Assume annual coupon (interest) payments.

c. What will be to the bond price if yield to maturity falls to 6%?

d. What is the Rate of Return in case of one year later yield to maturity increases to 8%?

4. An ınvestor buys a 1-year Zero Coupon Treasury Bond which Face Value is 100 ₺ at a price 85 ₺ and 3 months (90 days) later days later sells it at a price of 90 ₺.
Hint: Accept a year 360 days, r%=I/P (
Always remember what I got, what I put in percentages and if 3 months interest is 5%, yearly 5%*4=20% and so..)

a. What is the market  interest rate on the Treasury Bond when he/she buys?
b. What is the market  interest rate on the Treasury Bond when he/she sells “3 months later”?
c. What is the yearly rate of return of on the Treasury Bond?
d. If the yearly market interest rate was 14,94% what may be the buy price?
5. Fill the blanks with appropriate phrases!.
I. A bank pays 5% interest to savings, but you prefer to invest a Treasury Bond that makes you to earn 7%; in such a case Opportunity Cost of Capital is ..........%
II. Practically the fraction of  what I got 10₺, to what I put 90₺  in percentages r%=I/P is called as  .............................    .........................
III. The nominal value at the maturity of the bond is labeled as   …………………………
IV. Coupon Payment is annual …………………… payment, as a percentage of Bond’s face value.
V. The discount rate that makes equal PV of Future Cash Flows to Bond’s Price is defined as  ................  ....  ..............................     
VI.  Common Stock represents ................................... shares in a publicly held corporation.

VII.  Seasoned Public Offerings are consecutive offerings of stock to the general public for increasing C.....................................

VIII. If market rates decrease consequently Bond’s Prices ...........................
IX.     If Payout ratio is 70% Plowback Ratio will be ...............% 
X.     If Expected Rate of Return for a stock is 12% and sustainable growth (g) is 5%, Dividend Yield probably wil be ..............%.
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